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X7132 — In a pit

Overview

One of the ways in which the X3 explains how it could be that 17> is 7vn?
'\, 1s if the person was standing in a pit that was so deep that when he
extends his hand from the pit it is '\ 7015 from the floor of the (2°277) nmw.
The issue at hand is, since the pit is not part of the 3"77, why should the
2"7va be 217 It is only the *1v73 7 that is in the 7"77, and even though his
hand is "\ 7vnY, but the *1v himself is not in the 2"77, but rather in the pit
which may be a M5 1P W N°9112 therefore there is no 7" AR 7Py,

202777 NI RO RPIRD wAD? X — it is necessary to interpret that in the
case of YIm2 721y "1vn, the X»1A is a 9''719, only then will we say, that if his hand is
stretched out into the "a»n un% 1", will it be considered at rest in the 2"7717 and it will be a
proper "7 21P1 °23 Svn amm apRY.

In order that his hand which is extended from the pit will be 'an 7vn2, this pit must be
fairly deep, so how can it be a 71"777? mooIN explains -

72 ownnwn 2929w A — for instance if many people make use of it, even
though it is inconvenient to make use of a deep pit, it will still be considered a 1"77 -
RWORRN TRW PRTT 07T DY wmwn KT IX»Y — according to the 7''», who
considers an inconvenient usage as a proper usage

2937 oW 2959w Iva N — or (according to the W XY priTa "'y wonwn 1'"n
vonwn) it is in such a manner that many people traverse through this pit. In
either of these two cases, where the Xaw is considered a 2"77, this Xp» PR is valid
because, since both the body and the hand of the person are in a 7"717, therefore we can
consider his hand which is 'an 1% as resting on the floor of the 1"77 and consequently
there is a 7"v7 Dpn.

MWD 23R IR NOWRTD AT XA 2aX — however if the X213 was a noon»a2 (i.e.
less than 10 o°nov deep with an area of 2°15v '7 %y '7 or more) or a MWD PR
(i.e. more than 3 2’19 deep with an area less than 2°19v 7"¥7), and people do not traverse
it or make use of it —

aw 12w 112 — since his body is there i.e. in the Mwd opn & n°on73, therefore -
2°297 N Aews 8w 17° — his hand which is extended to the 2"';19
%397 nwas X7 XY — will not be considered as a 2"';719 (and therefore when one
would make a 77°p¥ 73137 to or from the hand he will not be 2°°m).

993 218 9n37 — for the hand is ‘dragged’ towards the body which is in a
710D QPR N N°on7d

a2 oRd RO o2 By R — even though the hand is D°mdv 'A% AWRY from the
1"77, which normally would render it at rest in the 1", nevertheless in this case where
the body is in a M5 DPH R N°9173 it is not considered a 1"
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NSRBI TAR ORW 7Y TAR 20T 10 — since 172X °27 maintains that 75 TR
TAR 7ORW, i.e. the binding of the hand to the body is considered a binding,
as I previously explained in 132 3"7n.

moon stated there that 172X °27 must maintain TaR 7% 7 72X, therefore, if the body is in a
different nwA from the hand, even if the hand is 2°1dv "W VN> it is not considered at rest
in that mw", since it is attached to the body in the other mwA. Therefore we must
conclude that the pit itself is a 7""777, in either of the two ways mooin suggested.

Summary:
When the body of a person and his hand are in two different nMwA, then

even if the hand is 2ndY '\» 1uab from the floor of that mwA it is not
considered at rest, if we hold 73R 7w 7 7a8. Therefore if an 77°pPY or 717 1S
made from or onto that hand, it is not considered a valid 773 77°pY from the
nwA where the hand is.'

Thinking it over
1. Why would a 2"772 X212 not be considered a 2"717, as opposed to a X1
Ll

112
2. What would be the 17 in a case where a person was standing in a *"77 and
his hand extended into the 7"737 (or the opposite) and someone was "7 pT
3"717% (or the opposite) and it landed on his hand 2"7772 (or °"77172) according
to the X3pon that #'7 ¥ '73 19 720Wn DR YW 17°?

"It may be noteworthy that this M0 may be going a step further than in the previous 1133 7"7 '0In, where
he stated that if the body and the hand are in two n1mw, then, for that person, being 71v an object placed in
his hand is not considered an 77°p¥ even when 17° is 'An 7012, if 7AR W 7° 72X; since in relation to the W
his own 7> is not completely in the >"771 (for instance), we do not have a proper Y51 npyd (1D1) 17° 7Py
n7. In our case however we are not interested in being 2»m the 77 9¥3; he is just a X¥nn °>°7 for a Dpn
7MiM 77°pyY. We may think that the fact that his body is in another mwA is irrelevant to the status of his 7 in
relation to the i1 7PWw who is placing an object '3 7un? 1722, Therefore it should be a valid 7mam 77py.
mooN is Wy that even in such a case 7 7iR is powerful enough to deny the 7> being 1"772 1 even in
relation to the P"17 ,NAR NOW 1791 ,1O121 Ipw.

? See previous footnote.



